FEHSE

119 >

MNWVAGO CY1BHFI(06~063)
ShiE RTE(E %)
CY1BE - 10+ 15 NN | L%! A4-MM 2P G
G x
e = WEARRES
— &
=y e g]
{ @) ' ]
2/
T—— N | K W N
F S+iTiE LE
22433
s {TTEEE | st50P ¢D | OB | F G H NG E N | NA MM % J NN S | W[ X ZZ
CY1B6 | ~300 |M5%0.8 | 76 | 177 | 9 | 5 [ 14 [5[35| 10| 14 | M3x05x45 | M10x1.0 [ 63 | 25 | 10 | &1
CY1B10 | ~500 | msx08 | 12 | 25 | 9 | 5 |125[4 | 38| 11| 14 | M3x05x45 | M10x1.0 | 63 [ 30 | 16 | 81
cy1B15 | ~1000 | ms5x0.8 | 17 | 35 [10 [ 65 [ 13 [11][ 57 [ 11 ] 17 | m4x07x6 | M10x1.0 [ 83| 35 | 19 | 103
CY1B20 - 25 - 32 - 40 B H LS, 4-MM S NN
/smmmﬂ\L
AR G & i
- e - “{
-l P Y
i Lng
NA 3 S+{7# Hie
2245
CY1B50 - 63
ZZHTH |
Bs | (FwE | #S0P | 0B | OC | ¢D | ¢EM8) | F |G| H K| L MMXJ N | NA | NB NN
CY1B20 | ~2000 118 36 —- |28 = 3] 8 20 28 8 | 66 [ M4x07x06 | 15| 24 | 13 | M20x1.5
CY1B25 | ~2000 18 46 - 1278 = 13| 8 |1205| 34 (10| 70 M5x0.8%x8 | 15| 30 | 13 [ M26x1.5
CY1B32 | ~2000 118 60 | - | 35 - 16| 9| 22 | 40 [15] 80 | MEx1.0x8 [17] 36 | 15 | M26x15
CY1B40 | ~2000 4 70 | - | 43 - 16| 11| 29 | 60 | 16 | 92 | M6x1.0%10 | 21 | 46 | 19 | M32x20
CY1B50 | ~2000 14 86 | 32 | 53 [30-0.083 | 2 | 14| 33 [ 58225 110 | MBx1.25%12 | 25| 55 | 23 -
CY1B63 | ~2000 114 100 | 38 66 | 32-0.039 | 2 | 14| 33 | 722 | 26| 122 | MBx1.25%12| 25| 69 | 23 -
nE QXR S B TCXR W X ZZ
CY1B20 - 106 - - 50 25 132
CY1B25 - 111 - - 50 30 137
CY1B32 = 124 = = 50 40 156
CY1B40 = 150 = = 60 40 182
CY1B50 M8x1.25%18 176 14 M12x1.25%x7.5 60 60 180
CY1B63 M10%1.5x 16 188 14 M14x1.65x11.5 70 70 192
REEH
S EREIE d H| B (o] D
SNJ-015A | $6, $10, #51 [ M10x1.0 | 3 [ 14 | 16.2 | 14
SN-02 420 M20x1.5 9 |26 30 25
B K B AOR B 2524 SN-03 $25, ¢32 M26x15 | 8 | 32 | 37 | 31
SN-04 $40 M32x2.0 | 11| 41| 47.3 | 39

KL

ANVAGO CY1SHFI(P6~D40)
R
HE (mm) 6 [ 10 ] 15[ 20 25 [32] 40 5063 [
i A S = DGR
;e AEF SIR3
BEFRED 0.7MPa SCEA
& ®{EEREH 0.18MPa SCHAKEE
T 58 A 18R -10~B0°C({8 F K £5) i, S
EREE 50~400mm/s oL
R 7538 e 5 4 Meegn
ITRERAZEMM 0~250:,",251~1000:; *,1001~: oL
"*ﬁ?lh Kﬁ; CS1RM
#EOR M5x0.8 | Rc1/8 | Rei/d o
REEY EE] i
MEEAEERE (RRARY-CYIS) ol
CIWmEL W, W AET1E RISOVG32. MRS
= = s = MIEF]
BSRTAE s e
DSNUE 7|
D CJ2EF|
¢ EnfmEcani 0] o
CBSRF
X e
FXSH P Ei2s |24 CIPR
xiae|x ) s 11 SDAFTI
o |# ) Nt FER/ENFEES casE
AXAEDR T i ossEA___
iz = =
6 | #6mm g m‘ﬁﬁimgﬁ s FEFEmm) BETE(mMm) | ~pgHEFRus cazazl
- Ly xics| RHMFx AR | B RE | (UERE RIRRRE)  ownn
[EHR —— 10 [¢10mm EEEATE wes 6 |50,100,150,200 300 | 300 cuml
Bl EAD 15 |015MM o ot e SERRRR, 10 |50,100,150,200,250300 | 500 | 500 GusE
s/RRZ 20 |©20mm BT 50,100,150,200,250, MKES
672 e el W 22 M I 15 |350,400,450,500 — | 8¢ W)
a2 [p32mm  —LERES e 20 1000 TNR
- . ; 100,150,200,250,300, | —
40 [v40mm RO EIOTE ﬁ‘:% 2 AR 21 25 |350,400,450500,600, AT3 SvEn
E— Rt 32 | 700,800 - CxsmER
BS i 1 T
%ﬂ 100,150,200,250,300, 1500 S
EXDIARPA 40 |350,400.450,500,600, | — criBEn
700,800,900,1000 Grismal
3 * AN TR A Gk I lonien
SEERH A REE RSN o AT B A T A T X A CriREH
SHKERRIES: FI2S-0.5mmL-3m,Z-5m H: A73,A73L MHZ2E ]
MHL2 B3
MHK2 55
96,010 ©15,020,925,432,940 BAkAHETE(CY1S) sy
MHC2E 7]
20T T ERRSBRNELER AL, wTzER
L = MHSTFRMERMENTE. e
!; EASE, RAREEATMRR MGIRF
= 6 = z o 2f ME OB, MBRARMNE S MGPRZ)
Y Fsa o LAFRE. MGGEH
§ 40| = Xad MGCE3
30] s o ,20. MKERF
1 = SEEnE levises ohea
1 1 Msa®
1A TS se192m30405050700 0310 §S|:§:::§§ Rsara)
MXH RS
B —— MXUF 3
g M MXS &7
T@ WREES | #ABRFED| (T8 EE R K SfETET MPTEAN
gel| ms HE | HEREE | MR AREED i NI NTER
(N) (Mpa) (Mpa) | MPTSEF
©6 | CYILBH | 196 0.7 0.55 o_‘ il MPTCES)
10 | CY1O10H | 538 0.7 0.55 {7 2(x100mm)
15 | CY1O15H | 187.3 0.79 0.65
$20 | CY1D20H | 231 0.76 0.65
#25 | CY1J25H | 362.8 0.75 0.65
$32 | CY1[J32H | 588.4 0.74 0.65
40 | CY1J40H | 921.8 0.75 0.65

< 120



FEHSE

ANWAGO CY1SHRFI(®6~040)
ShE R E(ZE %)
H AR (COY1S6 - 10)
(N) Z+HiR N [OF]
TT S+TiE T 2-P
PA 4-C1EMM 2I%K
Ll LT BEROXRE
f=ttvs |
@; of \'7
k- 1
o - @H b
o o0 I o
o 3 ; @
o & 1}
\u_\\J.A
‘ — 1] -
; [H =
_.‘_& AL ‘5]
NN A L 4-9BRTL |Hs|
Q+7 I CRE HA
s 4752%6W | oD | ¢d | A [¢B| C [ HT| 6 |GP | H | HA| HG | HP (HS | T JXK L (| M
&JJ?& ~300 76| 8 6 |65 |3 | 17| 5 |32 |2 | 19| 8 |26]|8 |10 M4X0.7X65 |40 | 35| 6
Cg:?éqa ~300 12 10 75 8 4 18 65 40 34 255 12 33 14 125 M5X0.8x95 45 43 6
e MM NN (N) P ‘PA  PB|PW QW | Q [ 5 [TT| Z | W
US| maxor | Mex10 | 10 | Msxos | 25 | 25 | 50 | 16 | 52 | 42 | 16 | 68 | 48
CY1S10 ) MMT RN R TEM
CDyiSio | M4X07 | M8x10 | 95| M5x08 | 25 | 38 | 60 | 24 | 60 | 47 |205| 80 RPTSRCR e

CLIY1815-20-25-32- 40

EE 9d| A [eB] c |HT| 6 [GP| H |HA | HG | HP [HSD| T JXK L|w|m
CY[1s15| ~750 [166] 12 | 75| 95| 5 | 21 65| 562 | 40 | 29 | 13 | 39 | 15 |[125| M6X1.0x95 |60 56| 8
CY[11520 | ~1500 |21.6| 16 | 10 | 9.5 | 52 | 20 | 85 | 62 | 46 | 36 | 17 | 45 |25.5(16.5 | M6X1.0x9.5 |70 |56 10
CY[11525 | ~1500 |26.4| 16 | 10 | 11 | 65 | 20 | 85| 70 | 54 | 40 | 20 | 53 | 53 [16.5| M8x1.25x10 | 70| 7 | 10
CYO1s32 | ~1500 [33.6| 20 [125) 14 | 8 | 24 95| 86 | 66 | 46 | 24 | 64 | 27 |185| miox15x15 | 85|87 12
cvO1s40 | ~1500 [41.6] 25 [12.5] 14 | 8 | 25 [105| 104 | 76 | 57 | 25 | 74 | 30 [205| mi0ox15x 15 | 95 |87 12
we MM NN [N P ealpB[Pw[aw] o [ s [TT[z [w
CY[I1S15 | M5X0.8 | M8x1.0 | 7.5 | M5x0.8 | 30 | 50 | 75 | 30 | 75 | 62 |22.5| 97 | 72
CY[11520 | M6x1.0 | M10x1.0 95| 18 |40 | 70| 90| 38 | 90 | 73 |255] 115 87
CY[11525 | M6X1.0 | M14x1.5 | 11 178 |40 | 70 [100| 42 | 90 | 73 [25.5| 115 97
CY(]1S32 | M8X1.25 | M20X1.5 |11.5| 1/8 | 40 | 75 [122| 50 | 110 | 01 |28.5[ 188 | 119 .opum i wive i imm
CYLI1S40 | M8X1.25 | M20x1.5 [10.5| 1/8 | 65 | 105|145 | 64 | 120 | 99 |355|155 | 142 s mumzAgeTEN

121 »

ANWVAGO

BSRTHE
cCYlL H H300
S 7
rﬁ:ﬁﬁ! fite P
(ERIR) g (4 hispl
H | i
L | s gt
Kl | Hrispeger21
B PEER i B2
BS | AR 11
fTR/MEEFXBSK
o iE1) _ x2)
H1E FREITIE KT |@EFiLs
(mm) (mm) (mm) g%
50, 100, 150, 200 300
10 50,100,150,200,250,300 500
50,100,150,200,250
18 300,350,400,450,500 L
20 50,100,150,200,250 1000 A3
25 300,350,400,450,
— 500,600,700,800
32
1500
50,100,150,200,250
40 300,350,400,450,500
600,700,800,900,1000

)Y HEARR TR AT G .

H2) BEAFXAREBEATSABEF X2 RS
EEMFRISEE, WSEKERTILS:
Gl: A73,AT3L

Zid®:-0.6m, L-3m, Z-5m

FEHSE

CY1LAFI(P6~D40)
PR LR
HE (mm) 6 [ 10 ] 15[ 20 [ 25] 32 [ a0
EARE s DuoRR
SIR¥
ERR B ]
EEERES 0.7MPa T
RIEERED 0.18MPa SCTRHM
TR AR IR A =10 ~ +60°C({B4 K L) SEDNCH NN
EERE 50~1000mm/s MmN
) 75 0 8 2 4 B o B 34) -
FEAZ mm 0-250:7°  251~1000:%* 1001=:75° e
b RE MALETI
EEOE Re M8x0.8 118 [114 oimm
BEEY ET AR
MIES
mEHH, HRIBETF1SHISOVG32. e
DSNUE 7|
GuzEA
CM2RF
CBSRF
CIIRA
CJPRH
SDARY
CasEH
C55RF
A73L] 22—
B IT A

BARBBITE

CUUBR3I
MKE
MU
TNRH
STMERH
CXSMRH
CXSWRS
oveEw
onsEN__
CYILERS]
CriRRH
MHZ2EF]
MHL2F 54
MHK2RF1
MHS2RF

MHC2E 7]
MHT2R7)

MHY2ERH

MGJIFRF]
merRm

MGGF¥
vecEN

€

MKEF
CRATRH
MSOEH
RSQEZ]
MXHES

500 (650 1000
SELfTEE (mm)

1500

< 122

MXUF3I
MXS B
MPTRF]
MPTFRYI
MPTSHF
MPTCES]



EHSE FEHFSE
MNVAGO CY1LRFI(®6~D40) MNVAGO CY1RFRFI(P6~063)

ShE R B (%) L
CY1L6.10 @R (mm) 6 [10[15[ 20253240 50] 63 *
{hB) M eens (TP =5 L
N[TT. & T = = i
o HREEFL i BiEHR b soxn
sEERED 0.7MPa CRsbER
2 450 PR 0.18MPa e
FHERREERE -10~+60C SE(DNG) B3
BEEEE -50~1000mm/s MeB R
a9 AR E T oLt I
‘ié;m K%E CS1RM
Co5%H
TRAE mm 0~250:7° 251-1000:4* 1001~:3* e
AT, TERABMTRRE EEOR Msx08 [ Ro(PTIVB [ RelPT)V4  oigy
- TSR AR CHPEEFXTREREGELARE (EPEGE) , BEEEETHI00mmSET. MARSI
- ARERREERE (ROEE) SRR 18 mISOVE32 MR
MFRF
BSKEHE TR/EEIFXEE bswE
IF3 (CY1L6) _— ————— Frrr
CYIR [ 20 o — 3 0 — ziz O = 2= 2 SED BAciTE i£2) CM2RF
= = H 12 FAEITRE e SRR
me f7i2%@ | A | B | Cc | D] d[ea[es[ea[Fe] e [GP| H [HA[HB[HG | HI [HO [ HP [ HS [ HT (mm) (mm) T | BT TR casmn
=7
CY1L6 ~300 7 |6s5| 3 |76| 8| -[ -] -] -16 3|27]6 |10]1n]| o ]|25]26]n14]16 REWL ERE 6 |50,100,150,200 300 300 | D-A9OL %
cyiL1o ~500 85| 8 | 4 [12| 10| 6|12| 3 | 5 [75]50| 34| 6 [175[145|135]| 33 [ 33 215 18 Zi28 | AEE &) 10 |50,100,150,200,250,300 500 500 | paeaL  soamm
G |®emE = 15 |50,100,150,200,250 1000 70 | ppgny =20
we ] K| Lfw|m| mm | now|iney] nn [-palpB|Pw| o [aw|rw| T [TT| e | W]z EiLE | BFRFH 300,350,400,450,500 i C85RF
N S
CY1L6 |M4x0.7 65|40 (35| 6 | M4x0.7|10| 30 | 24 [M8x1.0| 24 | 40 [ 60 | 54 [20 | 12| 10 | 16| - | - | 56 | 68 *Figg:;éf’m B0 | g s oe 1500 1000 | D-FSBL %
CY1L10 | M5%0.8|95| 68 43| 8 | M4x0.7 9.5 27 | 19 [M8x1.0| 30 | 60 | 80 | 85 | 26 [17.5/12.5/20.5| 0.5 | 1.0 | 77 | 103 el iemm (BOBEWE 25 1450,500,600,700,800 2000 1000 { D278k o
= - 5 32 2000 1500 | pzraL o ——
PARR st i SLA R <+ eh 4B 20 | 20mm T ar=rs CUJBR3I
b o W (o5 %28 |REERE WETE K 40 |500,250,300,350,400, 2000 1500 | D-ZBOL  ‘wkmm
Eige e 50 | 450,500,600,700,800, 2000 1500 | D-Y59AL  wumm
32| s2mm R [0 cwmxmSsATR  ERS| 20 63 | 900.1000 2000 1500 | D-Y59BL  TNRH
CY1L15,20,25,32,40 40| domm Ty [wpT| 025 ERMEFXBSEE, MT s | 1% —_—
=== 032  4KEIS, Ki2SH0 5m, n s ) AR ITIZ AR 2 SIMEN
TF | G [940  3%3m, z#6m. L H2) MUTFEZABRERTSRBEF XL R, cxsmRs
CXSWR3SI
CY1BERN
SEEHHIRBEBRED orsmm
CYILES
$6.¢10 ®50.963 $15,420,$25,432,440 e CYIREH
PEe i ——
0] 5 H BB ws %R ecemn mEAREEN oo
% ¥ 100 ; (MPa) (MPa) MHL2n A
a0 2500 1000 i 6| CYIREH | 196 0.7 0.55 MHICEN
7
70 il & A:ﬁ L 410] CY1R10H | 539 | 07 0.55 NHS2RN
Es0 g P : < mi 4 #15] CYIRISH | 197.3| 079 065 e
& 2
R0 — | 1500 s ©20] cY1R20H | 231 | 076 065 i
a0 S | & = 0 2 #25| CY1R25H | 3628 | 075 065 el cgin
4 % 1000, 100] 0 MGIFF]
i e #32| CY1R32H | 5684 | 0.74 065 =
20 % 220 et 40| CYIR40H |921.8 | 075 065 MGGEH
= = 10001020304050607080910 0010203040506070809 10 100001 7080810 © 50| CY1R50H | 1471 0.76 0.65 MGGEZI
WS |fTE%E| A |B|C| D d|EAEB|FAIFB) G |GP| H |HA)HB|HG| HI |[HO HO|HS|HT] J SN B D WPa) WS (WPa) BIEED (pa) 63| CY1R63H [225655 074 065 kR
CY1L15 ~750 7.5|9.5| 5 |16.6/ 12 | 6 13| 3 6 (65|65|40 65| 4 16 | 14 | 38 | 39| 25| 16 | M6%X1.0 |9.5| 75 | 5.6 CRATVRH
cy1Lz0 | ~1500 o5 [05[52[216[ 16 [ - | - [ - | - [85]80|46] o [10] 18] 16|44 4a5[31][20] mex1.0 1086556 Mooww
cyiLzs | ~1500 |95 11 |65[26.4| 16 | 8 |14 4 | 7 85|90 54| o [ 18] 23| 21| 52 |53] 39| 20 |mex1.25| 10 |86 7 BAAH FERRER XD E %
CY1L32 | ~1500 |10.5{ 14 | 8 [33.6) 20 | 8 | 16| 5 | 7 [9.5]|110| 66 | 12 |26.5/26.5|24.5| 64 | 64 [47.5/ 25 |M10x1.5| 15 [100| 9.2 (ﬁiﬁ) l:&%ﬁ (ﬁ&) gg(%) E@U?)Eg%;%g MXUES
mm. 8 m .m. —
cy1L40 | ~1500 [11.5] 14| 8 [41.6] 25 [10| 20 | 5 |10|10.5]130] 78 | 12 | 35 [30.5{28.5] 76 | 74| 56| 30 [M10x1.5| 15 | 136] 9.2 6 1.06 s | 73 | 002 | 100 - .
MPTRH
10 3.90 bk 3 10 | 6.0 0.02 100 - e
—— MPTFEY
ME M| MM | N) [(NAY|CNB)| NN P |*Pa|PB|PW| Q |QW|RW| T [ta | b |TT|W | z |aEE+s 15 9.81 I 15 | 45 | 015 | 200 fﬂﬂ%ﬁﬁ e
CY1L15 | 8 |M5%x0.8|75 | 27 | 17 | M8x1.0 |[M5x0.8| 45 | 70 | 95 | 90 | 30 | 15 [12.5) 0.5 | 1.0 |22.5] 92 | 112 | RBOSOS 20 10.8 20 | 37 | o020 | 300 WPTCRS]
CY1L20 | 10 [ M6x1.0| 10 | 29 | 20 [M10x1.0|Re(PT)Y,| 50 | 90 | 120|105 | 40 | 28 (1655 - | - |255| 117|130 | RB1006 it | w8 #B | o7 | Bes | 908
cyiLzs | 10 | M6x1.0| 11 | 49 | 40 |M14x1.5|Re(PTYY, | 60 | 100 | 130 105 | 50 | 22 |16.5| 0.5 | 1.0 |25.5]127] 130 | RB1a11 %2 | w7 52 | 8.1 | 040 | 400
- 40 19.6 40 | 28 | 062 | 400
CY1L32 | 12 |M8x1.25[11.5| 52 | 42 |M20x1.5|Re(PT)V,| 70 | 120 | 160|121 | 60 | 33 |18.5| 0.5 | 1.0 |28.5| 157 | 149 | RB2015 =g | @mE s0 | =& | A.00 | 500
CY1L40 | 12 |M8x1.25/10.5| 51 | 36 |M20x1.5|Re(PT)/,| 90 | 140 | 190|159 | 84 | 35 |20.5| 1.0 | 1.0 |35.5[ 187 | 194 | RB2015 63 29.4 63 | 22 | 137 | 500
“PARIR o ol SLEVR < A ) ETRK TR, FESHENSEL.

123 » < 124



THFSKE IHSKE
MNVAGO CY1RZ5I(P6~P63) MNVAGD CY1REFI(P6~D63)

ShRTE(Z ) BinEER
330 CY1RG20~63

CY1R6-10-50-63 l'—l'K‘

g @ @
e A L =
’ P
© & SCTRHM
cB HA 2R T f _—
=2 &R 2] SEIDNGI £
4-XE AR, 40 BRRENTL VeeRE3l
o \HP| T v 234 MM B RE M T T wE oaerm
L CS1RM
| | ! Cosm3y
g_ MALFR T
- = E| § CG1RT
254 MM BERE M SreBRA 7 LT . apm
H 2P ¢ WA 1 ; RS
A(J;)E éa HA TEEDm 2 Y T w |K WHFESH MFRF]
! _HP Qi G DSNUE)
| Z+4588 GJ2&7l
cR omeRE
~ 7| CBSRF
CIIRA
: 7 iy CJPRH
SDARYI
CasEH
C55RF
ZH+TiE CQzEB]
Y ADVUEH
CY1RG25,32,40,50,63 e
CUJBRI
MKEH
MUFES]
e —— (’D[ TNRH
| - STMERH
mem g C:(:M!W
(CY1R50, 63) SRR
— CXSWR3I
CY1BRY
2.p CY1SEHN
(#5Em CYILESY
qe 712 A|B| c|cB|CR|D|F |G |GP|GW|H |HA|HC|HP|HR|HS|HT JXE K A T
CY1RG10 CY1RG15 sme——
CY1R16 ~300 9 [65(32( 2 [05|76|55| 4 |20 (185191717 9 |17 |6 | 7 M4X0.7%6 | 7 Wz25 )
CY1R10 ~500 9 |65[32| 2 [05|12|65| 4 |27 (2565|2624 | 25| 14|24 | 5 | 14 | Max0.7x6 | 9 i L
MHK2 55
CY1R15 | -1000 [105] 8 [42| 2 |05 17| & | 5 [ 33 [s15[32]30 |31 ] 1730 85| 17 | msx08x7 [ 14 e f78 | B | C|CGB|CR| D| F |G |GP | GW| H |HA|HC | HP|HR|HS | HT JXE i —
CY1R20 | ~1500 9 |95|52| 3 | 1 |228 9 | 6 | 39 (37.5/39| 36|38 | 24|36 75| 24 M6 1x8 11 CYIRG10 | ~500 |65|32| 2 | 05| 12|65 4 | 27 |255| 26 | 24 | 25 | - | 24 | 5 | - M4x0.7x6 9 Mo %]
CY1R25 | -~2000 |85 /95|52 3 | 1 [27.8) 85| 6 | 44 |425 44 | 41|43 | 24 | a1 65235 Mex1x8 |15 CY1RG15 | ~1000 | 8 |42 | 2 |05| 17 | 8 | 5 | 33 |315| 32| 30| 31 | - |30 |85| - | M5x08x7 | 14 %
MHY2:
CY1R32 ~2000 |10.5| 11 [ 65| 3 [1.5| 35 [10.5| 7 | 55 |53.5| 55|52 | 54 [235| 51 | 7 | 29 | M8x1.25%10 | 13 CY1RG20 | ~1500 |96 |52 | 3 | 1 |228]| O | 6 | 39 |375|39 | 36 | 38 | 11 | 36 |75 28 M6x1x8 M emm
CY1R40 ~2000 10|11 | 65| 5 | 2 | 43| 13| 7 | 65 |635| 67 | 62 | 66| 29| 62 | 8 | 36 | MBx1.25%10 | 15 CY1RG25 | ~2000 | 9.5 | 52 | 3 1 |278| 85| 6 | 44 |425| 44 | 41 | 43 |14.5| 41 | 65 [33.5| MBX1X8 15 MaPRF
CY1R50 2000 14 | 14 | 82| 5 | 2 | 53] 17 | 85| 83 1815 85|80 | 84 | 45 | 80 | 9 | 45 | M10X1.5%15 | 25 CY1RG32 | ~2000 | 11 | 65| 3 [15| 35 |105| 7 | 55 [535| 55 | 52 | 54 | 20 | 51 [ 7 | 41 | M8x1.256x10 | 13 ~ MEGEH
MGGES
CY1R63 | ~2000 | 15 |14 |82 | 5 | 3 |66 | 18 | 85| 95 [93.5/ 97 | 92 | 96 [ 51 | 90 | 9.5 | 51 | M10X1.5X15 | 24 CY1RG40 | ~2000 | 11 | 65| 5 | 2 | 43 | 13 | 7 | 65 |635| 67 | 62 | 66 | 25 | 62 | & | 50 | MBX1.25X10 | 15~
= 14 |82 5 53 | 17 | 85| 83 |81.5( 85 | 80 | 84 | 32 | 80 [ 9 | 56 10X1.5X15 | 25  cammm
CY1RG50 | ~2000 M
CY1RG63 | ~2000 | 14 |82 | 5 66 | 18 |8.5| 95 |935| 97 | 92 | 96 | 35 | 90 | 9.5 [63.5| M10Xx1.5x15 | 24 ~ MQEH
RSQEF
e T L || m MM N P PW| @ |aw | T | W [ws| x | ¥ | z MXHES)
CY1R16 ~300 34 [ 35 | 35| M3x05 | 35| M5x08 19 | 64 | 10 |175] 20 | 6 | 10 |355| 72 Be 72 L || M MM N P PW| o |aw | T | w |ws| x | ¥ z %
CY1R10 ~500 38 [ 35| 4 M3%0.5 | 46 | M5%0.8 | 26 | 68 | 14 [175| 20 | 8 | 15 |395| 76 CY1RG10 ~500 38 | 35| 4 M3%0.5 | 4.5 M5%0.8 26 | 68 | 14 |17.5| 20 8 | 15 |395 | 76  weram
CY1R15 ~1000 53 [ 43| 5 M4X0.7 6 M5x0.8 | 32 | 84 | 18 | 18 | 25 | 7 | 18 |54.5| 94 CY1RG15 | -1000 | 53 | 43 | 5 M4x0.7 6 M5%0.8 32 | 84 | 18 | 19 | 25 7 | 18 |545 | 94  meTEEn
CY1R20 ~1500 62 |56 | 5 | Max07 | 7 | RePT)1/8 | 38 | 95 | 17 [205| a0 | 7 | 22 | 64 | 107 CY1RG20 | ~1500 | 62 | 56 | 5 Max07 | 7 Re(PT)1/8 | 38 | 95 | 17 |205| a0 | 7 |22 | 64 [ 107 %
CY1R25 ~2000 70 | 56| & M5x%0.8 | 65 | Re(PT)18 | 43 | 105 | 20 |215| 40 | 7 | 28 | 72 | 17 CY1RG25 | ~2000 | 70 | 56 | 6 M5x0.8 | 65 | Rc(PT)I/8 | 43 | 105 | 20 |21.5| 40 7 |28 |72 |17 T
CY1R32 ~2000 76 7 7 M6 1 8.5 Re(PT)1/8 54 116 26 24 50 7 35 79 130 CY1RG32 ~2000 76 7 7 M6 1 8.5 Re(PT)1/8 54 116 26 24 50 7 35 79 130
CY1RA40 ~2000 %0 | 7 5 MEx 1 M | Re(PT)1/4 | 64 | 134 | 34 | 26 | 60 | 7 | 40 | 93 | 148 CY1RG40 | ~2000 | 90 | 7 | 8 MBX 1 1 Re(PT)1/4 | 64 | 134 | 34 | 26 | 60 7 | 40 | 93 |148
CY1R50 ~2000 10 | 86 | 10 | mex125 | 15 | Re(PT)/4 | 82 | 150 | 48 | 30 | 60 | 10 | 50 | 113 | 176 CY1RG50 | ~2000 | 110 | 8.6 | 10 | M8x1.25 | 15 Rc(PT)1/4 | 82 | 159 | 48 | 30 | 60 | 10 | 50 | 113 [ 176
CY1R63 ~2000 118 | 86 | 10 | mBx1.25 | 16 | Re(PT)1/4 | 94 | 171 | 60 | 32 | 70 | 10 | 60 | 121 | 188 CY1RG63 ~2000 | 118 | 8.6 | 10 M8x1.25 | 16 Rc(PT)1/4 94 | 171 | 80 | 32 | 70 10 | 60 | 121 | 188

125 > < 126



SIN(EFTFFAR)

MANVAGO MHZJ2Z 5)(®6~P40)
WAER SBER (M) BAER (B0
i $5 )4
#I#mm 6 | 10 [ 18 [ 20 [ 25 | 32 | 40
% B
EAEN | WEA [015-070.2-07] 0.1~0.7 [ 01-07
#E(MPa) | B/ [03~070.35~07] 0.25~0.7 | 0.25~07
B RS E -10~60C
EHHFH(mm) +0.01 [ *0.02
BEE RS (c.p.m) 180(MHZL2% 51 5120) \ 60
i FEE
AR WAEM - B{EM
Bt IF 5 (TR TA) F fél 7 B 4 FF E(MHZA2, MHZAJ2A T 8 1 FF %)
BEE®E M3x05 | M5x0.8
BESRTHE
wEFnE MHZ[ | 2 - - [M9PV
B BT X B
Fis(man  FEE LD ZiEg| 2%
A i 2| 2t RS EHMAE LT
Al [ BIFRTLE =N e
L |wimEm ___BfEERS BEX:
LER D | WiEM ol
il _[BRLAE_ s [ &R BETHR i
C |REA xizg| 8T ZHKICR)
S F | SigAE(FKM)
s i)
CHETH RMHZAJFIMHZI2HE B 54 .
iz E
5 Tomm FRAERH U CET
_10] 10mm ) FiEg: BAE £ Wam we e
16| 16mm Fige: #2) &\ BRE
20| 20mm 2xd 17k
25| 25mm
32| 32mm
40 | 40mm
'J\li‘(A.AJ)ﬂfitﬂlﬁﬁr»B,
TR R)RELE ¢ 10~ 3 25. 1 NERIL R

L R (IR MRELE 060 25.

ERABMEAXDS
MIN,MINV, Y59 § FOBAL,
M9P,M9PV,Y6E9 §,FBN,
M9B,M3BV,FONW, Y7TNW
CEHMETFXMESMEE,

MERKEETRES:
%18 5-0.5m,L-3m.z-5m.

127 »

5

2. WA @A R

3 RFEFHE

SE) MHZAJZRIMHZI2E 5 I -

1) MHZ2-6,32,40F 1 1R .

#2) MHAZ-6BMHZJ2-6IR AR AE .

i#3) MHZA2 MHZAJ2E “W" @#.

F4) MHZAJ2-GRIME # HM3E D .

E5) HE M & B FMHZA2-8EMHZAJ2-6.

SINEFTFAR)

/ 1 =)
MANVAGO MHZ[J2% 51(®6~d40)
BESRTHE
SRS KiTIRE ST
Felk )N IFRATR FFi N AT
Bl F n g GE TSRS DA | () Bl F g (AP S WA | (i)
Shededsh | ek | mm shirdedsh | mtedkdsh | mm
y MHZA2-6D MHZL2-10D ik 7 B
BT Mizases0 33 o 4 ;i 16D 34 a5 12
) -20D 42 86 18
g | MERess | g - 4 il 25D o5 w04 | 22
1 MHZL2-10S. 71 8
i | MHZA-6C = 37 4 1 168 27 12
MHZAJ2-8C i 208 33 - 18
FERE ; # 255 50 22
— MHZL2-10C 3 B
R AN i i | -16C 38 12
AR R OB ({730 fﬁ“kﬁi‘ff]ﬁﬁ[ﬁi () 220G - 57 18
SHEIAES) | WSS | mm ] e o 55
MHZ2-60 33 6.1 T
10D 1 17 4 o
W i 34 45 5 HHRERS
3 -20D 42 66 10 KN TR
i -25D 65 104 14 itz # B VA TR S DA | ()
-32D 158 193 22 SN | AERED | mm
-40D 254 318 30 MHZJ2 6D 33 6.1 1
MHZ2-68 1.9 3 x -10D 9.8 17 4
-108 71 4 {E -16D 30 40 6
# -168 27 6 i -20D 42 86 10
-208 33 5 10 -25D 65 104 14
-255 45 14 MHZJ2 6S 18 E]
il -328 131 22 " -108 63 4
- -408 217 30 165 24 - 6
1 MHZ2-6C 37 4 # 7F -208 28 10
il -10C 13 4 ) 258 45 14
W -16C 38 6 e MHZJ2-6C 37 4
-20C _ 57 10 Ui -10C 12 4
" -25C 83 14 -16C - 31 6
#l 32C 161 22 il -20C 56 10
_40C 267 30 -25C 83 14
M RSTEEX)
MHZ 2—-6L1
WAEA/RER Eﬂ@ %
2-M3x0.5 BIL(ZEMATH)
R E 26 AR
[ T & 3 p'_" f
8 ;[ T — o AN =
B ) i
e | 5 l
n - [l & 7 o
g E ‘J—J B8 B 102095
] | 38.8
- 07H8*3 1.5
oy RIS RERMRT
e R
- (FisFa0* (}}D-;JB] o
2 CERAEHIPHRIRI)
3 2
To—=off i
25 5 Li
17
« BIFENGS. —IBDERIFEIL. N
< 128

Df
SIR¥
oz
SRAARE
SCTRH
SEIDNG, 3
ves R
CAZEF
CS1RM
CosEN
wamn
caigal
AR
wEA
MFRFI
DSNUEF
GweEn
2R
casmAl
ciimal
o
SDARYI
casEA
ssEA___
cazgl
ADVURHA
wEm
CUJBRI
wkES
MU
A
STMRH
CxswRH
CXSWR3I
ovieRN
ovisEN
CYILERF
CviRRM
MrzzR)
WH2EE
K2R3
wHs2RH
MHC2E 7]
MHT23)
MHY2RH
GIRF
wePEm
MGGHH
wecEmn
MK R 7|
CRATRH
]
RSQEF
MXH RS
wkURR
MXS &7
MPTRF
MPTFHII
MPTSER
MPTC R3]



